gobgogo2oe0000000

Mo06b Jobooobooooooougooga

U oobooomobobooboooooooo

199 0000000 M23bODOOO MEDOUOOOOODODOODOODODOODOOODOOOOOOODOOD
gooobooobooooooobooboobooobbooboobooboooooooLDoboboobboobLbUoDbo

1991 00 00000000000000000000000000000000 MEDOOOOOOOOO
00000000000000000000000000000000000000000000000000
00000000000000000
0000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
0000000 (z,9,2) 000002000000000y000000-,00000000000000000
000000000000000000000000000000 —(dT/dz2)/(|dT/dzle) =2.0 00000
0000000000000000000000000000000000000000000000400
0000000=40000000 v=5/30000000000 (N,,N,,N,) = (80,80,155) 00000
(Xmazs Ymazs Zmaz) = (64H,64H,32H) 00000000 HOOODODOODOOOOOOOO
00000000000000000000000000000Rayleigh-Taylor 000000000 pure
interchange moded B L kOB 00000000k 0000000000000 00000000000000
00000000000000000000 ParkermodedB || kO00O0000000000000O0O0O00OO
000000000000000000000000000

oopoooono 199000000 X1uipboooooooooooooooooooooooooo IBM-
PC/AT 0000000 Linux Diskless Cluster 00000000000



